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Intavolatura di Liuto, v.1 (1593), p.20. Encoded and edited by Sarge Gerbode.

1) 1st note g, 2nd note c in orig. My attempt to make sense of this...
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1) 2 notes d in orig.
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2) Rhythm flag missing in orig.
1) e in orig. clashes with conrtraponto
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























































160 




















































































 






165 





































































































170 



























































1)













































175 















































2)







 















































180 


























































- 5 -

2) Rhythm flag one position to left in orig.
1) Rhythm flag ½ value in orig.


